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Question Number : 1 Question Id : 2394721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Serial access memories are useful in applications:
Options:
, % Where we have all data ready before start of execution

> % Where the data is in number form

- % Where output is in serial form

4  Where data naturally flows in and out in serial form
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Question Number : 2 Question Id : 2394722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Fourth Generation Computers were developed in:

Options:
1 % 1960's

-~ % Late 1950's
= o 1970's
4 % 1990's
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Question Number : 3 Question Id : 2394723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AL stands for:

Options:

, w Arithmetic Login Unit

o « Arithmetic Logic Unit
5 » Anti Logic Units

4 % Anti Login Units
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Question Number : 4 Question Id : 2394724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

USB Stands for:
Options:

Universal Set Bus

®

i
% Universal Series Bus

« Universal Serial Bus

e Sl LR

% Universal Section Bus
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Question Number : 5 Question Id : 2394725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which protocol provides e-mail facility among different hosts?

Options:
, & FTP

> o SMTP
3 % Telnet
4 % SNMP
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Options:

| % THSHET (FTP)

, » THTHST (SMTP)
o #® é?»!?l?."

x THTATHI (SNMP)

4.

Question Number : 6 Question Id : 2394726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Standard single-sided. single-layer DVD holds up to:

Options:
, % 48GB

> % 4.6 GB
s « 4.7GB
4 % 43GB
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Question Number : 7 Question Id : 2394727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A list of instructions used by a computer is called:

Options:
1 Program
-~ % Data
= % Text
4 % Input
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Question Number : 8 Question Id : 2394728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A sound card 1s also known as:
Options:

1 « Audio Card

> # Cable Card

- % Graphics Card
4 % CDROM
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Question Number : 9 Question Id : 2394729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

OCR is:

Options:

, « Optical Character Recognition. which is the recognition of text characters by a computer

- % Optical Co-music Recognition. which is the recognition of text characters by a computer

- u Optical Character Recognition. which is the recognition of text characters by a Music player

4, % Optical Co-music Recognition. which is the recognition of text characters by a Music player
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Question Number : 10 Question Id : 23947210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which was an early mainframe computer?

Options:
; % UNIC

> ® MINIAC
2 ¢ ENIAC
4 % BINIAC
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4 % BINIAC

Question Number : 11 Question Id : 23947211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following programming languages does not require any program translator or interpreter?

Options:
, « Machine language

- % Assembly language

5 » High-level language

4 # Vvisual language
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Options:
2 P HMT SATHT (Machine language)

o % THeall $TST (Assembly language)

5 % Sed-Fdl #HMNT (High-level language)

4 % ©2F AN (Visual language)

Question Number : 12 Question Id : 23947212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following memories has the fastest access speed?

Options:
1« SRAM

> % DRAM
s % ROM
4 % DVD
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Options:
| » THINTTH (SRAM)

, « SIHRTTH (DRAM)



.« HTHTH (ROM)
, « &9 (DVD)

Question Number : 13 Question Id : 23947213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

i3 a tvpe of computer program that 1s designed to nm a computer's hardware and application programs
Options:
| % Operating System

5 of System Software
- u Proprietary Software

4 % Application Software
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Question Number : 14 Question Id : 23947214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Computer program that takes an executable file as input, and attempts to createa
high level source file which can be recompiled successfully is called as:

Options:
, % Anticompiler

o  Decompiler
- % Co-Compiler

4 % Reverse Compiler
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Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The memory resident portion of an operating system is called:

Options:
1 # Folder

® CMOS
Hard disk

u

®

P
=
4 « Kemel
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Question Number : 16 Question Id : 23947216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of these is not a High Level Computer Language?

Options:
, « Machine Language

> % COBOL
5 % C& C+t
4 % FORTRAN



Question Number : 16 Question Id : 23947216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Options:
| T ST

. arel (COBOL)

i

s ®x C U C++
, % DI (FORTRAN)
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Correct: 1 Wrong: 0

A group of 4 bits is called:
Options:

1 ® KB

5 % Byte
5 « Nibble
4 % MB
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| % & (KB)
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. » T@ese (Nibble)
4 % TS (MB)

Question Number : 18 Question Id : 23947218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A common boundary between two systems is called:

Options:
1 % Interdiction

> % Interaction
= « Interface

4 » Interdependency
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Options:
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Windows 7 edition contains the same features as Windows 7 Enterprise, but unlike the Entarprise edition. if
15 avatlalile to homme nsers on an mdivicoial license basis.
Options:

1 # Professional

- % Home Basic

5  Ultimate

4 % Home Premium
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Options:

1 % SATTHIA (Professional)
- » B af8®

5 v HeeHT

4 % T SEHIH
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Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Every computer connected to an intranet must have a distinct:

Options:
1 ® Firewall

5 % Proxy Server

z # Domain Name



4 « IP address
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Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the default file system of Windows NT family. starting with Windows NT 3.17

Options:
1 % FAT

>  NIES
= % exFAT
I HFES
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Options:

, % TWU (FAT)

, » TASITHTH (NTFS)
o » UFH THUCT (exFAT)
, % THUHUH (HFS)

Question Number : 22 Question Id : 23947222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
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A computer program that converts an entire program into machine language is called:

Options:
1 # Commander

> % Siumulator

-  Compiler



4 % Interpreter
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Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“Disk Cleanup™ utility is used to:
Options:

, « Erase unnecessary files from disk drive

- u Create temporary files into disk drive

- % Format disk drive
4 % Format flash drive
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Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Commands is required to reboot the computer?

Options:
1 « CTRL +ALT + DEL

> % CTRL +ALT +TAB
- % CTRL + ALT + SHIFT



4 % CTRL + SHIFT + DEL
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Options:

1 « CTRL +ALT +DEL
. « CTRL +ALT +TAB
= % CTRL +ALT +SHIFT
4 % CTRL +SHIFT +DEL
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Correct: 1 Wrong: 0

Special type of virus, which fills a computer system with self-replicating information. <logging the system so that its
operations are slowed or stopped. is called as:

Options:

1 % Firewall

» = Keystroke
= o Worm

4 % Zombie
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VIRUS stands for:

Options:

; = Vvital Information Reason Under Siege

-  vital Information Resource Under Siege



5 % Vital Information Resource Under System

4 % Virus Information Resource Under Siege
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Which type of attack vses software to trv thousands of commeon words sequentially in an attempt to gain vnauthorized
Access 10 a user’s accoumu?

Options:
1 % Denial of service

> % Password

-  Dictionary

4 ® Virus
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Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a class-A IP address?

Options:



1 % 130.100.5.1

- « 120.255.10.1
% 220.150.10.10
% 223.5.10.1

Question Number : 28 Question Id : 23947228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Tfaf@a # ¥ #iF a1 TFeT T97-v 3 9ar (class-A IP address) g7
Options:

1 % 130.100.5.1

> « 120.255.10.1
- % 220.150.10.10
4 % 223.5.10.1
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Correct: 1 Wrong: O
The process of removing unwanted part of an image is called:

Options:
, » Removing

> % Clipping

5 » Bordering

4  Cropping
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Programs such as Internet Explorer that serve as navigable windows into the Web are called:
Options:

| % Hypertext



> % Networks
= % Internet
4 « Web browsers
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The value of the Excel expression = SUM(3%6/3+0-4) is:
Options:

Lo

I-.2

L]

o> R
T W 1
4 B 0
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Options:
1. ¢ 2
> ® 3
2z % 1
4% 0
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Correct: 1 Wrong: 0
Which of the following keyboard shortcuts can be used to permanently delete files from the computer?

Options:
; % CTRL +DELETE



> % DELETE
- % ALT+DELETE
4 « SHIFT + DELETE
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Options:

, ® CTRL +DELETE
., % DELETE

- % ALT +DELETE
. v SHIFT +DELETE
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Correct: 1 Wrong: 0

When a computer is left idle for a specified period of time, gets activated.
Options:

1 & Screen Saver

> w Wwallpaper

= % DBanner
4 % Theme
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Correct: 1 Wrong: 0
The most common extension of a compressed file is:

Options:
1« AP
> ® Xls

z % .doc



4 % -bmp
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Options:
1« ZIp

> % Xls

2 % .doc

4 % -bmp
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Correct: 1 Wrong: 0
To start MS Word using "Run" option from start menu. which command is used?

Options:

1 = MsWord

> « Winword
z % Word2003
4 ® Word
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Options:

| % THTH 5 (MsWord)

> o fasgg (Winword)
. x T5 2003 (Word2003)

4 % = (Word)
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Correct: 1 Wrong: 0
How to select a group of files that are continuous in the file list?

Options:
 w Click first file, hold Ctrl, and click on last file

o Click first file, hold Shift. and click on last file

5 % Click on the first file and drag it to the last file



, = Right-Click on folder and choose Select file
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Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Margin added for binding a side of the page while printing is called:
Options:
| « Gutter margin

-~ % Footer
= % Header

4 » External left margin

Question Number : 37 Question Id : 23947237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fifer & e 5 1 aE3 a7 e ¥ v AR F AT AT AAS A FEd 2l
Options:

| v T AT

o W

3.53%3?

Question Number : 38 Question Id : 23947238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
use a URL to connect to Web sites.

Options:
1 « Browsers

5 % Spams

= # Protocols



4 % Utilities

Question Number : 38 Question Id : 23947238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ITAEEE W 54 & [T TR (URL) F FIRT 4 2

Options:

| o I3

o« TR

5 % IErRre
gfeferr

4 ® 3

Question Number : 39 Question Id : 23947239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which suite can be used to maintain your security and privacy while you are on the Web?
Options:

, w Browser security

> u Filter
- u Plig-in

4  lnternet security

Question Number : 39 Question Id : 23947239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T # 39T W F SN TR JIET TF AAIdr A W@ 8
T THE (suite) &1 ST FaT AT TehaT 22

Options:

1_@3mw

> B iEF:chI

, o FOTC G

Question Number : 40 Question Id : 23947240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Diangerons program that can be infused in a variety of ways including opening e-mail attachments and downloading
software from the Internet, is called

Options:

, » ApPp

5 % Spam



. » Utility

4 « Virus

Question Number : 40 Question Id : 23947240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TATATF STH ST 2 FRUTE S0 SHo & HoAddA! Sl TlelaT T S
¥ WIFEI SBAIE AT A1 &, FYeL H I &7 FohdT g, 39
__ #Ea

Options:

% 9 (App)

I
o R 'Fﬁﬂ'
gieferdr

z # o

, v TEE

Question Number : 41 Question Id : 23947241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following is the shortcut key to cut and paste a file from one location to another?
Options:

, ® Ctrl+X Ctrl+P

5 o Cl+X, Ctil+V

5 % Ctil+C Ctl+V
4 % Ctil+C, Cirl+P

Question Number : 41 Question Id : 23947241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
IS &l Teh TUH § FEHT ol T & Foee 3 Feafa@d & 8
frw oféae-Fr Fr st har =mar 22

Options:

, % CTRL + X, CTRL + P
, » CTRL + X, CTRL + V
. % CTRL + C, CTRL + V
, » CTRL + C, CTRL + P

Question Number : 42 Question Id : 23947242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the shortcut key to close an active application window?

Options:



, ® Alt+F10

> % Alt+FIl
- % Alt+F1
4 « Alt+F4

Question Number : 42 Question Id : 23947242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TiT vitassea 98 & 92 a8 Arafafaa # & g oiéwe-@r & g2 faar s 22

Options:

. % ALT + F10
> % ALT + F11
2 % ALT + F1
4« ALT + F4

Question Number : 43 Question Id : 23947243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The shortcut key for Spell check and Grammar check is:

Options:

1 % SHIFT +F7

> % CTRL +F7

3 o F7

4 ® Alt+CTRL + F7

Question Number : 43 Question Id : 23947243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TdAT ST (spell check ) TF IMAT A %?Jr ke Fr gl
Options:

. = SHIFT + F7

- % CTRL + F7

=« F7

4 % ALT + CTRL + F7

Question Number : 44 Question Id : 23947244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Background effects applied on a document are not visible in:

Options:
, w Print Layout view

- % Web layout view



5 » Reading View

4 « Print Preview

Question Number : 44 Question Id : 23947244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SEAES # FE0 BT AT geesf# & 9 (backerouad effects) fREATA TS e ¥ R # T
g &7

Options:

| x € WITIT

AT FHBT =T
2_&5 o,
o T =
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Question Number : 45 Question Id : 23947245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which function key is used to update results of a formula in excel if it is not auto calculated?

Options:
1 ® F8

> % F12
- % Fl1
4 « F9

Question Number : 45 Question Id : 23947245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

UFHS H AfE FFT:90TT (auto calculation) #gT #r a2 g1, oy fRufa &
BIHAT & IROMAT & FETdA 8 (8 Herered-ahr & FAET fobdm 1T 82
Options:

, # F8
> % F12
=z % F11
4 v F9

Question Number : 46 Question Id : 23947246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which option will you use to prevent the flow of data from one cell to adjoining cells?

Options:
, w» Align Left



> w word Wrap

- w Merge Cells

4 Wrap Text

Question Number : 46 Question Id : 23947246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
U WS @ U & Hed W A 3T GG U 8 hH [eed & FarRT GFar Sar 27

Options:

| % 3TOTSA AP (Align Left)

5 % 5 ¥ (Word Wrap)
. » TS UEH (Merge Cells)
4 1T TFET (Wrap Text)

Question Number : 47 Question Id : 23947247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What can be the best alternative to overcome the lack of physical appearance in business meeting?

Options:
| « Video conferencing
- % Email

5 % Telephone

4 % DBiometrics

Question Number : 47 Question Id : 23947247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FRIER & ;AT 7 goger sufdufa Fr A 370 T7ET FF W 7 g
forg 3ca8 faFeT &1 wIeT &5ar o1 gaar 22

Options:

| T FEREET
2 % TP
, % SEATEEE

Question Number : 48 Question Id : 23947248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Excel, to prevent the first row and first column from hiding while you scroll. you can use:

Options:



, % Split window option
-~ % Unfreeze panes option
5 % Hold split option

4 « Freeze Panes option

Question Number : 48 Question Id : 23947248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g H, T F{d AT 98 I UF 98l HIddH & [©9 ATt &I et
gg AT F & 5w & y3er 5 o wear 87

Options:

| = TEooIe 9T Reeew
. % HTHIA 9o [FEed
- » Blo8 TFeoe faeed

4 v W 9 ey

Question Number : 49 Question Id : 23947249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The default view in excel is:
Options:

| % Page Lavout

- » PageBreak
= % Auto

4 + Normal

Question Number : 49 Question Id : 23947249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TFHS HI EHloe gl

Options:

1 ® 9 SHT3T
_—
3.%3‘ﬁﬁ

4 v A

Question Number : 50 Question Id : 23947250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When you enter text in a cell in Excel. it also appears in:



Options:
1 % Status bar

> « Formula Bar

5 » Row Heading

4 % Name Box

Question Number : 50 Question Id : 23947250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TS H FdT 89 # 33ge 9iase +d 9T, IF # & i@ &ar g

Options:

1 ® 'Q.E'H'E'IT
3 v T AW

3 % T gigi
4 ® mm

Question Number : 51 Question Id : 23947251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

CTRL + Enter will add a:
Options:

1 % Section break

o  Manual Page break

- % Line Break
4 % New line

Question Number : 51 Question Id : 23947251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

CTRL + ENTER ga=f & &7 211 27

Options:

1_&5 mlﬂ'a?
Ewﬂﬁgmﬂsraﬁ

- A S
. T T

4.

Question Number : 52 Question Id : 23947252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following functions is used to find the positive square root of a number?



Options:

.« SQRT
> % ABS
z % ROOT

., ® SQUAREROOT

Question Number : 52 Question Id : 23947252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TRel T F OSEAE FEHA (positive square root) TAT TS ?T-‘j" Ar=ae ¥ ¥ &0 E 3 94T
o e 27

Options:
, « SQRT

> % ABS
= % ROOT

, %« SQUAREROOT

READING COMPREHEMNSION

Section Id ; 2394722
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 2394722
Question Shuffling Allowed : Yes

Question Id : 23947253 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cesticn Label | Comprehension



Read the follewing passage and answer the gquestions given afler it

The woik of heart can never be intermipted. The heart’s job is to keep oxygen-rich blood fiowing throngh the body. All
the body's cells need a constant supply of ocooveen especially those inthe brain, The brain c2lls live onky four to five
minutes after their oxvgen is cut off. and death comes to the entire body.

ITie hemt 15 a specialized musele that sevves as a pump. This pump 15 divided into fowe chambers connected by tiy
doors called valves. The chambers work to keep the blood flowing rotnd the body ina circle with the help of veins and
arteries.

Heart diseases can ocow from damage to the heart musele, the valves or the pacemaker, Tf the muscle 15 damaged, the
heart 15 umable to pump properhy. 11 the valves are damaged. blood connot low nonmally and easily fom one chanber 1o
anather, and if the pacemaker 15 defective, the contractions of the chambers will become imcoordinated.

Until the twentieth century few doctors dared to touch the heart. In 1953, all this changed. After twenty years of work.
Dr John Gibbon of USA had developed a machine that could take over temporarily from the hemt and lungs. Blood
contld be routed through the machine. by passing the heart 5o that surgeons conbd work imside it and see what they were
dommg. The era of open hemt surgery had bepim.

In the operating thearre. it gives surgeons a chance to repair or replace a defective heart. Many patients have had plastic
valves inserted in their hearts when their ovwn was faulty. Many people are being kept alive with tiny batterv operated
pacernakers: none of these repairs could have been made without the beart=lung machine. But valuable as it 15 to the
surgeons, the heart-lnng machine has certain Hmitations. It can be nsed only for a few hovrs at a time because its pump
gracually damages the blood celis.

Sub questions

Question Number : 53 Question Id : 23947254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Human heart is a kind of:
Options:

1 % valve

> % pacemaker
3 ® Vvein

4 « muscle

Question Number : 54 Question Id : 23947255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The function of the heart is to:
Options:
, w Oxygen —rich blood to only the brain.

-  keep the blood flowing through the body.
- % pump the blood in different chambers.

4 % carry the blood to all parts of the body.

Question Number : 55 Question Id : 23947256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Heart diseases can occur if are damaged.



Options:

1 % arteries
- # Velns

3 o valves

4 % brain cells

Question Number : 56 Question Id : 23947257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What happens if the heart muscle is damaged?
Options:

, « Heart is unable to pump the blood properly.

- % Blood is unable to pass from one chamber to another.

= % The confraction of chambers becomes chaotic.

4, % Blood is unable to flow through the body.

Question Number : 57 Question Id : 23947258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements is NOT true?

Options:

, w With the help of the heart lung machine. surgeons were able to operate on the heart.

-~ % With the help of the heart lung machine. plastic valves or pacemalkers could be inserted.

5  With the help of the heart lung machine. blood could go through the heart.

4 % With the help of the heart lung machine. blood could by-pass the heart.

Question Id : 23947253 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 23947254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single

Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

AT €20 UF YT &7 FT 27
Options:
1 % dlod

oo® ‘Tﬂﬁm
o ® w

Question Number : 54 Question Id : 23947255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
L
T FT FT FT 272

Options:

- e ATEASH &I HFEd Jod ad ‘-l%tilrlll
W R H TS TIR §a1F T&AT

2 ¢ R
5 % Taf8=T F&l H & H 9T FAT|
4 % IR F Tl A F T o F=T

¥

Question Number : 55 Question Id : 23947256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

afe SFTerET & 1 ar g2 UT & TR £

Options:

, % gHAfAE

> % Rrw

3. dled

4 % AfETsH Hr FfEwT

Question Number : 56 Question Id : 23947257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

ofg g2 #1 ATEYe afaEeg & 1 a1 =4 g 22

Options:

| v T &S IS T UT A H HEAY & AT g
L T T FET W g A S H @A & A g

g FEll & TEHOS FHATTT & A 2
, « T R F ATA ¥ vaATEd @ H FEHT & 0 g



Question Number : 57 Question Id : 23947258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AH @ T T T =T AT A2

Options:

| » TT-5EE AT F TEEA ¥ TS T6F W FE A H HEH & T A
, % ECI-5%s AT HT FEFAT W celieces dled AT THAFL SIol A Fevell &

. TI-FES T F TG F TS F EEH IR S HRAT €

7= Tea-hhs M FT WETIar § A F TEd & e AR § T[T A Fehe gl

COUANTITATIVE AFTITULE

Section Id : 2394723
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel; Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 2394723
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 23947259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The smallest among the following

x .

F 4 .5 4 &5 w5
el et e b AL o el Bt [
7 669 & 8 8°9 8
Options:

2. 1
1.¥ 7 &

5 ¥
> ® 9 &

5 3
= ® 8 g

5 3
4 %9 g

Question Number : 58 Question Id : 23947259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 59 Question Id : 23947260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Rajn, Radha and Rajni take 2440, 60 and 180 seconds respectively to complete one round of a circular track, If they start
at the smme point, af the same time and i the same divection, after how oy mantes will they meet again at the
startinge point™?

Options:
1 ® 13
o o 12
T R 15

I 11

Question Number : 59 Question Id : 23947260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T, T 3T TT OF Ieao0 & 57 UF =927 90 S04 & FHI 240, 60 T 180 ¥E= A9 £ 3fy
Ty TN E R AT W aD E A s g m A w
fora=r T8eT a1 Tenr?

Options:

1 ® 13
> v 12
=z ® 15

g 11

Question Number : 60 Question Id : 23947261 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a seminar. the number of participants in Hindi. English and Science are 32, 80 and 128 respectively. What is the
mininun number of rooms requurad. if in each room the mmber of participants is the same and all participants in a
room are for same subject?

Options:

1 ® 14



o R 28
3. ¢ 15
4 W 26

Question Number : 60 Question Id : 23947261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

vw HeSET H, Ty HErEr sy Treme & s 2 arer & m=w oween 32, 80 A 128 ) o v
TAL A AT BT OTET B WEIT @A £ T U FAT A7 o ofaseh o & e & E 8 s
FA I-E'I'u-ﬂnq-h;fﬁ FEIJTHIIT%"’

Options:

, & 14
> % 28
3¢ 19
4 % 26

Question Number : 61 Question Id : 23947262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The scale of amapis 1 : 7 * 10°, Two cities are 20 cm apart on the map. The actual distance (in k) between them is;

Options:
, ® 100000

5 % 200000
5 % 20000
4 « 14000

Question Number : 61 Question Id : 23947262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Um HIATT F AEET 1 7 ¢ 107 | ey o & el & &t g 20 e & 2 & g S
g (B &) Fm A7

Options:

1 % 100000

. % 200000

- = 20000

4 v 14000

Question Number : 62 Question Id : 23947263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 7 taps can fill a tank in 14 hours. then 14 such taps will fill 5 such tanks in:
Options:

1 « 35 howrs



7 hours

u

RAL T

®

28 howrs

14 hours

o
®

Question Number : 62 Question Id : 23947263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

I 7T AT TH EHF R 14 T H W HFA &, AT 0 14 FT sl 9T & 5
&Rt Y fohasy O H &7
Options:

. v 35 e
5 % 7S

5 % 28 TS
4 % 14 T

Question Number : 63 Question Id : 23947264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Raghu and Anand cover a certain distance (d kin) at respective speeds of 30 km/hour and 40 knyvhour,

If Anand takes 8 hours less time than Raghu to the cover the distance. then the value of d is:

Options:
1 ® 962

o R T22
=z W 720
4« 960

Question Number : 63 Question Id : 23947264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

g 3R e v AREa g (d ) & waer 30 fRfAvder 3k 40
foral/ger T =1 & 99 X g1 TS 3g gff 99 FA H TG Joar A
8 U< &H THT Jar g, a d &1 AT T4 272

Options:

| % 962
o u 722
2 % 720
. v 960

GEMERAL MENTAL ABILITY AND EEASONING
Section Id : 2394724



Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questions to be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 2394724
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 23947265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the set of number from the four alternatives sets that is similar to the given set.
Given set :(3. 18. 36)

Options:
, w (2.10.16)

» o (4,24,48)
o x (6,42,48)
. % (12.72,96)

Question Number : 64 Question Id : 23947265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

b

T av wag & FHET IR Rewedt A ¥ gEat # v g I
fear 7/ @ 7 (3, 18, 36)

Options:

- (2,10, 186)
, o (4, 24, 48)
. (6, 42, 48)

(12, 72, 96)

B
B

4

Question Number : 65 Question Id : 23947266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the following question. there is some relationstup between the two tenms to the left of ;- and the same relationship
halds between the twao tenms to its right, Also, one term éther 1o the right of 2 or 1o the left of 11 is nussing. This tenm is
given as ane of the altematives mven below each question, Find out this temn.
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A river west to east and on the way turns left and goes in a semi-circle round a hillock. and then turns left at right
angles. In which direction is the river finally flowing?

Options:

1 ® West
- o East

z % North

4 % South
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Pointing to-a man on the stage, Fashi said. “He is the brother of the danghter of the wife of my husband.” How iz the
man on the stage related to Rashi?

Options:
1 & Son

> % Husband
= % Cousin
4 % Nephew
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I Q memms “add 107, 1 means ‘multply by, T means “subtract froon” and K means *divide by* hen 30 K 2 Q316 TS5=7

Options:

1 % 18
o o 28
=3 31
4 % 103
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Consider the Venn diagram given below;
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The munber in the Venn diagram indicates the munber of parsons reading the newspapers. The diagram is drawn after
surveyving 50 persons, In a population of 10000, how many can be expected to read at least two newspaper?

Options:
1 % 5000

> « 5400
s % 6000
4 % 6250
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. = 5000

- « 5400
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Which one of the following theories of Communism is NOT a doctrine of Karl Marx?

Options:
1 # Dialectical materialism

- % Historical materialism
5 % Class struggle
4  Theory of new democracy
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Which one of the following is regarded as the Magna Carta of Indian Education?
Options:

| « Wood’s Despatch

> % Hunter Commission
%z % Sadler Commission

4 % Wardha Scheme
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Noble Prize in which field is NOT paid out of the endowment set up by Dr. Alfred Nobel?

Options:
1 ® Peace

> % Medicine

5 % Chemistry

4 « Economics
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Who is the winner of the 1% All India Invitational Snooker Championship 20167
Options:

1 # Laxman Rawat

> % Pushpender Singh

= « Rahul Sachdev

4 » Pankaj Advani
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Which city has been declared as the cleanest city of India in Swachh Sarvekshan, 20167

Options:
, w Visakhapatnam

5 of Mysuru

= % New Delhi

4 % Tiruchirappali
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Where is the headquarter of International Bank for Reconstruction and Development (IBRD) located?

Options:
1 ® Geneva

-  Washington D.C.
=z % London
4 % Paris
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AS the government prepares to launch its Start-Up India, Stand-Up India campaign, one area that requires
special attention is education. The biggest service the government can do to make India a hub of innovation
and enterprise is to make sure that young people who come out of school and college not just know what they
are expected to know but also dewvelop their creative and critical faculties. For creating new businesses and
business models, entailing disruption of established tradition, it is not enough to be a brilliant scholar or a
tearn player. Stay hungry, stay foolish, this was Steve Jobs' adwvice to young graduates of Stanford in a
corrrnencermnent speech that has become a classic. ©f course, he did not mean to either commend anorexia or
valorise irresponsible indolence. What he sought was to discourage low-level equilibria, to reject facile
acceptance of conventicon. In effect, he was asking young people to hark to a primordial urge of the human
species to do new things, to go where others have not gone, to try new ways of doing familiar things, to
experiment, to learn, to discover, to invent, to achieve, not only for the utility of the pot of gold at the end of
the rainbow bt for the beauty of the rainbow and of the chase. Thanks to a tradition of iniquitous social
hierarchy and an education systerm founded in and for colonial rule, Indian children have been trained to
conform and accept authority, rather than to question, deconstruct and create anew. This is hurdle in the path
of innovation and entrepreneurship. The task of changing the culture of education is gigantic, even tougher
than improving its efficacy. It calls for money, vision and cormmitment, on the part of teachers, administrators,
parents and society at large. In other words, it calls for exceptional leadership. We wait. The global gas market
has turned on its head in the past few months. Prices have tumbled, demand is weak and there is
unprecedented ramp-up of liquefaction capacity globally. We, in India, need to step-up on gas. It makes
perfect sense to deregulate gas prices, to shore up supplies to meet rising demand. The price reduction has
everything to do with much easier trend in oil prices, massive new LNG export facilities coming on strearm in
the foreseeable future, the huge potential for stepped-up gas usage here and India's rising geopolitical heft.
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